CABLE PLUG CMALE CONTACT, PQ50 SERIES 20positions. TYPE)

May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

EN BILL OF MATERTAL FOR A CABLE PLUG CMALE CONTACT) REQUIRED QUANTITY
R CONPONENT REQUTERD QUANTLTY | PART Mo, N REWARKS
N THE PRODUCT 15 A HOUSING WITH THO SHIELD SHELLS
- HOUSING PQ50-20P (L236-2011-4
~ 2 ! ASSENBLED IN A P-INSULATED CASE.
y THO PIECES OF SINGLE-UNIT ARE USED,
COVER CASE 2 PAS0-20P-PC | CL236-2000-8 11 ¢"yaah . cR0SS RECESSED NEED SCAENS WITH CAPTIVE WASHER GHAXOD.7X16) ATTACHMENT
~ ol (P ] PO-CHC22. 000 |CL236-2013-0 o7 |APPLICABLE CABLE OVTER OIA = 6 22m or #16m
(o 1+ A PO-CHCTS. 00 | CL236-2005-1  |JIS 8 1188 + CROSS RECESSED NEED SCRENS WITH CAPTIVE WASHER GMAXD.7X12) ATTACHMENT
= WALE CRIWP CONTACT CSTANDMRD CONTACT) | | REQUIRED NOWBER® | PQ50-1618PCFA | CL236-2006-4 | APPLICABLE WIRE = UL1007 AWGH16~18, UL1015 AWGAT6~18
WALE CRINP CONTACT CSECUENCE CONTACT) | @ | REQUIRED NOWBER® | POSOA-1618PCFA | CL236-2007-7 | APPLICABLE WIRE = UL1007 AWGH16~18, UL1015 AWGATS~18
WALE CRINP CONTACT CSTANDARD CONTACT) | G | REQUIRED NOWBER® | P50-2022PCFA | CL236-2031-1 | APPLICABLE WIRE « UL1007 AWGH20~22, UL1015 AWGH20~22
WALE CRINP CONTACT CSECUENCE CONTACT) | © | REQUIRED NOWBER® | PO5O0A-2022PCFA | CL236-2032-4 | APPLICABLE WIRE : UL1007 AWGH20~22, UL1015 AWGH20~22
t.8+04 D.2 BEE. X PREPARE AS YOU NEED FOR YOUR APPLICATION
33.8 REF. 28.6 £ 0.5 HOUSING
@1 Qz
f]j'—'Eg'—U\ X J_J_l__l_l,_l_’ p=—
l Hﬂ ﬂ“ | = JIS B 1168 = CROSS RECEDOED NEED SUREKS ‘ [EQ.] ‘ Hﬂ ﬂ”
== WITH SIPTTVE WASHER CHEXCD, TXIE) g . ANIES | S
J1S B 188 + 0SS RECESSED NEED SCREws[\:
NLTH CAPTLYE WASHER GhAX0,7X12)
- : : )
: o O,
» o : o J15 B 1188 PAY HEAD NACHINE SCREW WITH
B @@ SPRING LOCK WASIER + PLANE WASHER QMEXD.TXC16)
(OVER CASE COVER ChSE I
18,8+ 0.4 CHOLE CLAWP
MIS-MATING PREVENTION KEY CPOLARZATION) TYPE
.24 05 & 0.2 KEF. NATTIG FACE) CIRCULT No. DENTIFICATION |CONTACT INSERTTON STDE]
28 £ 0.5 WS
e, N
(! ————_\\ ) |
/— NO WALE CRINP CONTACT TNT0 i
/ \ e THE POSITION T0 BE KEY NUMBER.
- = (CAPLE OF KEY TYPE: B)
COUNT DESCRIPTION OF REVISIONS DESIGNED CHECKED DATE
— A 15 DIS-E-00007929 HY. MATSUDA KG. OKITA 20220106
Q ” s % TITLE LT
WLt GRLP CNTICT 4’/2 ].Rs Elgos?ﬁ*ﬁc}tmi 0., LTD.
2 . APPROVED KN. ICHIKAWA 20100929
/g?p QPQ5O SERIES ZOPOS|J[|OHS' TYPE CHECKED KN. ICHIKAWA 20100929
ASSEMBLED & MATED CONDITION canmeeo | TYMIRE 20100028
WRITTEN TF. HIGASHIYAMA 20100927
% fii 48 F Z TECHNICAL SPECIFICATION ETAD-E2925 | A |1

FORM 213-1-1



May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

[N-LINE RECEPTACLE CFEMALE CONTACT, PQ50 SERIES 20positions. TYPE)

/2

28.2 £ 0.5 BILL OF MATERIAL FOR AN IN-LINE RECEPTACLE CFEMALE CONTACT) REQUIRED QUANTITY
e 1“% . COMPONENT REQUTERD QAT | PART Mo, T REVARKS
T ‘ = A TG 1 P050-203 0L236-2014-2 | THE PRODUCT 15 ONLY AVAILABLE IN § INSULATED CASE.
- 4.6 REF. ¢, ‘ < D SHELL 1 PO50-205-05 | 0L236-2015-5
e —— < TN PLECES OF SINGLE-UNIT ARE USED,
COVER CASE 2 PS0-20P-JC | CL236-2002-3 1 164 418 . cRSS RECESSED NEED SCRENS WITH CAPTIVE WASHER GHEXCTXA8) ATTACHMENT
~ A | it o ; PO-CHC22. 00 o1l CL236-2013-0 or| APPLICKALE CABLE OVIER DIA = @ 27am or 9 15m
T+ PU-CHCT5 00 | CL236-2005-1 | JIS B 1988 ¢ CROSS RECESSED NEED SCRENS WITH CAPTIVE WASHER GEXCD.7X12) ATTACANENT
< sule ot oy | FOUED WMBER ¥ | PO5O-16185CFA | CL236-2008-0 | APPLICABLE WIRE : ULTODT AVGHT~16, ULTD15 MMGH~18
— @| REQUIRED NWBER® | P050-20225CFA | CL236-2010-1 | APPLICABLE WIRE : ULT007 AWGH20~22, UL1015 AWGK20~22
. CO0ING KEY | REGUIRED NWBER® [PO50-SCKY | CL236-2009-2 | DUMMY CONTACT FOR MIS-MATING PREVENTION.
= PREPARE AS YOU NEED FOR YOUR APPLICATION.
HOUSING 3.2 REF. X
38.06 £ 0.3 D L 31,2 £ 0.5
21 A@Z
1 | |
S| U1 3188 ¢ CRISS RECESSED NEED SCAENS B o
- WITH CAPTIVE WASHER GHAX0.TX16) - .
N N
J15 B 1188 + CR0SS RECESSED NEED SCRENS
WITH CAPTLVE WASHER GHAX0.X12) ] ( _ _
\ A + = i _ A\
© & 24 ©
—— '
b ﬁ 7 o : o JIS B 1168 + CR0SS RECESSED NEED SCRENS
R {58 '\§€ @@ WITH CAPTIVE WASHER GHAX0.7X16)
_ T i |_|; i J i T {_'_D
| H j m (OVER st (OVER ChsE | i
CHOLE CLAWP
48.8 & 0.4 30.2 REF. MIS-MATING PREVENTION KEY CPOLARIZATION) TYPE
CIRCUIT No. CIRCUIT No.
33.2£0.5 ® IDENTIFICATION MAH'EI’_G. FACE |C0NTACT INjERHON SIDE' TDENTIFICATION
28 4 0.5 o — —
O ]
T 3 B g
/‘ S i T
/ \ ] e
== CODING KEY
CXMPLE OF KEY TYPE : B0)
I ——~ i INSERT CODING KEY 10 THE
N o, POSITION T0 BE KEY NUNBER
FENALE CRIWP CONTACT <5
&
HRS HIROSE ELECTRIC CO..LTD. FTAD-E2925 N

FORM 213-2-2




PANEL ATTACHMENT RECEPTACLE CFEMALE CONTACT, PQ50 SERIES 20positions. TYPE)

May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

A BILL OF MATERIAL FOR A PANEL ATTACHMENT RECEPTACLE CFEMALE CONTACT) REQUIRED QUANTITY
COMPONENT REQUIERD QUANTITY|  PART No. (L N, RENARKS
AN\ HOISING 1 P50-20 CL236-2014-2 |THE PRODUCT IS ONLY AVAILABLE IN S INSULATED CASE.
D SHELL 1 PA50-20S-FL | CL236-2001-0

| | FEILE CRIIP CONTACT (| REQUIRED NUMBER | PQ50-1618SCFA | CL236-2008-0 | APPLICABLE WIRE : UL1007 AWG#16~18, UL1015 AWGH16~18
@/ REQUIRED NUMBER* | PR50-20225CFA | CL236-2010-1 | APPLICABLE WIRE : UL1007 AWG#20~22. UL1015 AWG#20~22
( ) CODING KEY O/ REQUIRED NUMBER* | PR5O-SC-KY CL236-2009-2 | DUMMY CONTACT FOR MIS-MATING PREVENTION.

XPREPARE AS YOU NEED FOR YOUR APPLICATION.

63 + 0.5 I
A8 £ 0.5 CINTERSECTION) S
38,6 + 0.3 2
18.4 £0.2 o
9.6 + 0.2 S| .
P= 4§ REF. :i 5 10.7 £ 0.4 3403 19.4 £ 0.4 18,6 + 0.3
¢ e g B
/A 2-NAX0. 7 CTHROUGH-HOLE) 1 i ||
|

paso-20strL| 7 | \ \

3.2 £0.3
21105
f:
L~ %
~ ¢ ™
[ T
\ |
I
fan
A\
18.6 £ 0.2
HH
)
M+ 0.3
3.2 £0.3

e ol +
9\ al )65 —4 o
j @ HOUSING N FEMALE CRIMP CONTACT M3X0. 5 CTHROUGH-HOLE)
= D SHELL 21,4 REF. — C
= 20.2 0.5 CINTERSECTIOND 15,6+ 0.3 A
384 £02
48 £ 0.5 C(INTERSECTION)
55+ 0.2 MIS-MATING PREVENTION KEY CPOLARZATION) TYPE
CIRCUIT No MATING FACE ICONTACT INSERTION SIDE'CIRCU]T o,
: IDENTIFICATION
[DENTIFICATION _ _ N
( ] _:Ilﬂ

CODING KEY

CEXAMPLE OF KEY TYPE : B2)

INSERT CODING KEY TO THE
POSITION TO BE KEY NUMBER.

HRS HIROSE ELECTRIC CO..LTD. FTAD-E2925 A 375

FORM 213-2-2




May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

A CABLE PLUG CMALE CONTACT) AND AN IN-LINE RECEPTACLE CFEMALE CONTACT)  MATED CONDITION

/2 DELETE

146.9 REF.

48.8 £ 0.4

35.2 REF.

© o @ ®
Q @ DN 9 @ > :
( & g ~ = I
O i > %
< | i

HRS

HIROSE ELECTRIC CO., LTD.

ETAD-E2925

FORM 213-2-2




May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

A CABLE PLUG CMALE CONTACT) AND A PANEL ATTACHMENT RECEPTACLE CFEMALE CONTACT)  MATED CONDITION

/A DELITE

MATED CONDITION IN REAR ATTACHMENT alt

48.8 + 0.4

RECOMMENDED PANEL
CUTOUT DIMENTIONS

CFRONT ATTACHMENT)
40.6 £ 0.3

(ONNECTOR REAR SIDE

MATED CONDITION IN FRONT ATTACHMENT EiD
: )
I [ ’\@ ® 1{
= /9 @Eﬂ - ;
E = Ziai
v B N @ T
ﬂ%_p TN }d
19,4 REF
1.4 REF.| ., 78 REF.
/] F\ M3 SCREW
B C(COMMERCIAL ITEM) CABLE PLUG CMALE CONTACT)
10— g i )
i i I g
PANEL ATTACHMENT RECEPTACLE /i:ﬂ"
CFEMALE CONTACT) & _
M3 SCREW -
(COMMERCIAL ITEM)
PANEL

CRIMP TERMINAL
CCOMMERCIAL ITEM) t= 2 REF.

=/ (THROUGH-HOLED

/ §72-M3X0.5
oox/ |

AL

21+ 0.3

33.2 £ 0.3

23 \PANEL

@

48.6 £ 0.3

zf§>51.5 1 0.1

48.8 £ 0.4

=N
'_EJJN_D_L\//V '
T @}
s = - ) -—-___>
23 = =l
v - 4(:;} ©
B an e }d
0[P
24.4 REF. 73 REF.
22.4 REF. W4 SCREW

CCOMMERCTAL TTEMD
CABLE PLUG CMALE CONTACT)

4

HA
[

PANEL ATTACHMENT RECEPTACLE
CFEMALE CONTACT)

5

7= ——

=

M3 SCREW
CCOMMERCTAL ITEMD

CRIMP TERMINAL

CCOMMERCIAL TTEMD

\

NCPANEL

t= 2 REF.

CONNECTOR NATING FACE

RECOMMENDED PANEL
CUTOUT DIMENTIONS

CREAR ATTACHMENTD
40.6 £ 0.3

Gy

Lo

N0 EER
ksl IR
(L] B | ) .
L) /ey,
NS = = =
!
\
28.4 £10.3 \PANEL
5.5+ 0.1 »
%
HIROSE ELECTRIC CO.. LTD. ETAD-E2925 2\ > 5

FORM 213-2-2




